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Confidence Intervals

The reason behind taking a SRS from some population is to get an
accurate estimate about the center (average) of that population. It is more

accurate to express the estimate (or guess) for that average as an interval
rather than a single #.

Think about picking a number between 1 & 10. You could guess a single
number, but you would only have a 10% chance of being right. If you
guessed that the number would be between 2 and 8 (inclusively), you
would have a 70% chance of being right.
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There is a much greater chance that a sample mean will be close to the
population mean rather than a single piece of data. We can get a better
idea about the population from a sample than we can get from an
individual data piece.

What we want to do is to take a SRS from a population and using the
mean (g), create an interval that we feel will contain the population mean
(o).
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